SSSSSSSSSSSSSSSSSSS







Z
O

(1) | M6 x 65 mm 3x
(2) | M6 x 50 mm 18x
(3) | M6 x 20 mm 2x
@ | M6 42x
(5) | M6 19x
® 33 18x
. S |-
% 1x
(9) (@ 4x




woesmm | |
4 2
5 1
8 — ° 1
7 Se

( )

. /
4 X N
IMPORTANT NOTE: \/
Do not tighten all screws/bolts until all completely assembled. @ﬂ i @v i
Thank you. \ J

STEP 2

(M6x50 mm)

M6

S

N | oo BN

IMPORTANT NOTE: ; ?
Do not tighten all screws/bolts until all completely assembled. @ﬂ @ﬂ
N\ J

Thank you.




ORETY

M6

2
4
5 & 5
8
7

M6

B/%,]
N1

IMPORTANT NOTE:

Do not tighten all screws/bolts until all completely assembled.
Thank you.

STEP 4

N | o0 o BN

IMPORTANT NOTE: ; X‘i‘
Do not tighten all screws/bolts until all completely assembled. @ﬂ @v
Thank you. \ J




1
o
LLl
-
7p

IMPORTANT NOTE:

mbled.

ot tighten all screws/bolts until all completely asse

Don
Thank you.

STEP 6

IMPORTANT NOTE:

mbled.

ot tighten all screws/bolts until all completely asse

Don
Thank you.




X

@igi
4 \/ X\

igi

ot tighten all screws/bolts until all completely assembled.

Thank you.

//Il\l\\\

IMPORTANT NOTE:

STEP 8

Don




STEP 9

STEP 10




	1
	Sheets and Views
	Layout1


	2
	Sheets and Views
	Layout1


	3
	Sheets and Views
	Layout1


	4
	Sheets and Views
	Layout1


	5
	Sheets and Views
	Layout1


	6
	Sheets and Views
	Layout1


	7
	Sheets and Views
	Layout1


	8
	Sheets and Views
	Layout1



